



INSTITUT DE FRANCE
Académie des sciences

Comptes Rendus

Mathématique

Mei Bai and Wenchang Chu

Further Equivalent Binomial Sums

Volume 359, issue 4 (2021), p. 421-425

Published online: 27 May 2021

<https://doi.org/10.5802/crmath.184>



This article is licensed under the
CREATIVE COMMONS ATTRIBUTION 4.0 INTERNATIONAL LICENSE.
<http://creativecommons.org/licenses/by/4.0/>



Les Comptes Rendus. Mathématique sont membres du
Centre Mersenne pour l'édition scientifique ouverte
www.centre-mersenne.org
e-ISSN : 1778-3569



Combinatorics / *Combinatoire*

Further Equivalent Binomial Sums

Mei Bai^{*}, ^a and Wenchang Chu^b

^a School of Mathematics and Statistics, Zhoukou Normal University, Henan, China.

^b Department of Mathematics and Physics, University of Salento, 73100 Lecce, Italy.

E-mails: baimeio418@163.com (M. Bai), chu.wenchang@unisalento.it (W. Chu)

Abstract. Five binomial sums are extended by a free parameter m , that are shown, through the generating function method, to have the same value. These sums generalize the ones by Ruehr (1980), who discovered them in the study of two unexpected equalities between definite integrals.

2020 Mathematics Subject Classification. 11B65, 05A10.

Manuscript received 22nd December 2020, revised and accepted 2nd February 2021.

In 1980, Kimura [14] proposed a monthly problem about two curious identities of definite integrals. If f is continuous on $[-\frac{1}{2}, \frac{3}{2}]$, then for $\delta = 0, 1$, prove that

$$\int_{-\frac{1}{2}}^{\frac{3}{2}} x^\delta f(3x^2 - 2x^3) dx = 2 \int_0^1 x^\delta f(3x^2 - 2x^3) dx.$$

In his (trigonometric) proof, Ruehr [14] observed by linearity that to prove these identities, it is enough to verify them for monomials $f(x) = x^n$. This led him to discover the following interesting identities

$$A_n = C_n \quad \text{and} \quad B_n = D_n,$$

where for a natural number n , the four binomial sums are defined by

$$\begin{aligned} A_n &= \sum_{j=0}^n 3^j \binom{3n-j}{2n}, \\ B_n &= \sum_{j=0}^n 2^j \binom{3n+1}{2n+j+1}, \\ C_n &= \sum_{j=0}^{2n} (-3)^j \binom{3n-j}{n}, \\ D_n &= \sum_{j=0}^{2n} (-4)^j \binom{3n+1}{n+j+1}. \end{aligned}$$

^{*} Corresponding author.

Allouche [1, 2] examined the related integrals and reviewed these identities in a more elegant manner. These identities were also reconfirmed by Meehan et al [16] who found, through the WZ-algorithm, that these four sequences satisfy also the common recurrence relation:

$$X_0 = 1 \quad \text{and} \quad X_{n+1} = \frac{27}{4} X_n - \frac{3 \binom{3n+1}{n}}{4(n+1)}.$$

By introducing a variable, Alzer and Prodinger [3] recently considered the polynomial analogues, that were also examined by Kilic-Arikan [13] through bijections.

By applying the generating function approach to the binomial convolutions

$$\Omega_n = \sum_{k=0}^n \binom{3k}{k} \binom{3n-3k}{n-k}$$

the authors [4] not only confirmed the identities

$$\Omega_n = A_n = B_n = C_n = D_n; \tag{1}$$

but also found the two additional ones

$$\Omega_n = E_n = F_n, \tag{2}$$

where

$$E_n = \sum_{k=0}^n 3^k \binom{3n-k}{2n} \frac{2k(k+1)}{3n-k},$$

$$F_n = \sum_{k=0}^n 2^k \binom{3n+2}{n-k} \frac{(k+1)(3k+2)}{3n+2}.$$

Recall the following two binomial series due to Lambert [15] (see also [5–7, 11], [12, §5.4] and [17, §5.4]):

$$\sum_{n=0}^{\infty} \frac{\alpha}{\alpha + n\beta} \binom{\alpha + n\beta}{n} x^n = (1 + y)^\alpha, \tag{3}$$

$$\sum_{n=0}^{\infty} \binom{\alpha + n\beta}{n} x^n = \frac{(1 + y)^{\alpha+1}}{1 + y - \beta y}; \tag{4}$$

where x and y are related by the equation $x = y/(1 + y)^\beta$. According to the Lagrange inversion theorem (cf. Comtet [8, §3.8]), both (3) and (4) can be considered as “formal power series” equations in the variable x .

For two natural integers m and n , define the binomial sum

$$\Omega_m(n) = \sum_{k=0}^n \binom{mk}{k} \binom{mn-mk}{n-k}.$$

Then we can compute, in view of (4), its generating function

$$\begin{aligned} \Omega_m[x] &:= \sum_{n=0}^{\infty} \Omega_m(n) x^n = \sum_{n=0}^{\infty} x^n \sum_{k=0}^n \binom{mk}{k} \binom{mn-mk}{n-k} \\ &= \sum_{k=0}^{\infty} \binom{mk}{k} x^k \sum_{n=k}^{\infty} \binom{mn-mk}{n-k} x^{n-k} \\ &= \frac{(1 + y)^2}{(1 + y - my)^2}, \quad \text{where } \boxed{x = \frac{y}{(1 + y)^m}}. \end{aligned}$$

By manipulating the above function, we shall prove that

$$\Omega_m(n) = A_m(n) = B_m(n) = E_m(n) = F_m(n), \tag{5}$$

where the four binomial sums are defined by

$$\begin{aligned}
 A_m(n) &= \sum_{j=0}^n m^j \binom{nm-j}{n-j}, \\
 B_m(n) &= \sum_{j=0}^n (m-1)^j \binom{nm+1}{n-j}, \\
 E_m(n) &= \sum_{k=0}^n m^k \binom{mn-k}{mn-n} \frac{(m-1)k(k+1)}{mn-k}, \\
 F_m(n) &= \sum_{k=0}^n (m-1)^k \binom{mn+2}{n-k} \frac{(1+k)(2+mk)}{2+mn}.
 \end{aligned}$$

When $m = 3$, we recover the previously known results

$$\Omega_n = A_n = B_n = E_n = F_n.$$

As done by Ekhad and Zeilberger [10] for the above identities, it should also be possible to give, by the WZ-method, “automated” proofs for those displayed in (5).

§1. Firstly, we can reformulate the generating function $\Omega_m[x]$ as

$$\begin{aligned}
 \Omega_m[x] &= \frac{(1+y)^2}{(1+y-my)^2} = \frac{1+y}{1+y-my} \times \frac{1}{1-my/(1+y)} \\
 &= \frac{1+y}{1+y-my} \times \frac{1}{1-mx(1+y)^{m-1}} \quad \boxed{y = x(1+y)^m} \\
 &= \sum_{j=0}^{\infty} (mx)^j \frac{(1+y)^{(m-1)j+1}}{1+y-my}.
 \end{aligned}$$

Letting $\alpha = (m-1)j$ and $\beta = m$ in (4), we have further

$$\begin{aligned}
 \Omega_m[x] &= \sum_{j=0}^{\infty} (mx)^j \sum_{k=0}^{\infty} x^k \binom{(m-1)j+km}{k} \\
 &= \sum_{n=0}^{\infty} x^n \sum_{j=0}^n m^j \binom{nm-j}{n-j} \quad \boxed{n = k+j}
 \end{aligned}$$

which implies that $\Omega_m(n) = A_m(n)$. □

§2. Secondly, the generating function $\Omega_m[x]$ can also be restated as

$$\begin{aligned}
 \Omega_m[x] &= \frac{(1+y)^2}{(1+y-my)^2} = \frac{(1+y)^2}{1+y-my} \times \frac{1}{1+y-my} \\
 &= \frac{(1+y)^2}{1+y-my} \times \frac{1}{1-x(1+y)^m(m-1)} \quad \boxed{y = x(1+y)^m} \\
 &= \sum_{j=0}^{\infty} (m-1)^j x^j \frac{(1+y)^{2+mj}}{1+y-my}.
 \end{aligned}$$

By letting $\alpha = 1 + mj$ and $\beta = m$ in (4), we can expand further

$$\begin{aligned}
 \Omega_m[x] &= \sum_{j=0}^{\infty} (m-1)^j x^j \sum_{k=0}^{\infty} x^k \binom{mj+km+1}{k} \\
 &= \sum_{n=0}^{\infty} x^n \sum_{j=0}^n (m-1)^j \binom{nm+1}{n-j}. \quad \boxed{n = k+j}.
 \end{aligned}$$

This shows that $\Omega_m(n) = B_m(n)$. □

§3. Thirdly, rewrite the generating function $\Omega_m[x]$ as

$$\begin{aligned} \Omega_m[x] &= \frac{(1+y)^2}{(1+y-my)^2} = \frac{1}{\left(1-\frac{my}{1+y}\right)^2} \\ &= \frac{1}{(1-mx(1+y)^{m-1})^2} \quad \boxed{y = x(1+y)^m} \\ &= \sum_{k=0}^{\infty} (k+1)(mx)^k (1+y)^{(m-1)k}. \end{aligned}$$

Letting $\alpha = (m-1)k, \beta = m$ in (3), we have further

$$\begin{aligned} \Omega_m[x] &= \sum_{k=0}^{\infty} (mx)^k \sum_{i=0}^{\infty} x^i \binom{(m-1)k+mi}{i} \frac{(m-1)k(k+1)}{(m-1)k+mi} \\ &= \sum_{n=0}^{\infty} x^n \sum_{k=0}^n m^k \binom{mn-k}{mn-n} \frac{(m-1)k(k+1)}{mn-k}. \quad \boxed{n = k+i} \end{aligned}$$

This gives rise to the equality $\Omega_m(n) = E_m(n)$. □

§4. Finally, the generating function $\Omega_m[x]$ can be expressed alternatively as

$$\begin{aligned} \Omega_m[x] &= \frac{(1+y)^2}{(1+y-my)^2} = \frac{(1+y)^2}{(1-(m-1)x(1+y)^m)^2} \\ &= \sum_{k=0}^{\infty} (k+1)(m-1)^k x^k (1+y)^{mk+2}. \quad \boxed{y = x(1+y)^m} \end{aligned}$$

By making use of (3) with $\alpha = 2 + mk$ and $\beta = m$, we deduce that

$$\begin{aligned} \Omega_m[x] &= \sum_{k=0}^{\infty} (m-1)^k x^k \sum_{i=0}^{\infty} x^i \binom{2+mk+im}{i} \frac{(k+1)(mk+2)}{2+mk+im} \\ &= \sum_{n=0}^{\infty} x^n \sum_{k=0}^n (m-1)^k \binom{2+mn}{n-k} \frac{(k+1)(2+mk)}{2+mn} \quad \boxed{n = k+i} \end{aligned}$$

which leads us to the fourth identity $\Omega_m(n) = F_m(n)$. □

§5. Before concluding the paper, it is worthwhile making the following comments.

- As done by Duarte and Guedes de Oliveira [9], for an arbitrary real number λ , we have the identity

$$\Omega_m(n) = \sum_{k=0}^n \binom{mk+\lambda}{k} \binom{mn-mk-\lambda}{n-k}.$$

This can be justified easily by the functional relation

$$\Omega_m[x] = \frac{(1+y)^2}{(1+y-my)^2} = \frac{(1+y)^{1+\lambda}}{1+y-my} \times \frac{(1+y)^{1-\lambda}}{1+y-my}.$$

- Observe that the equalities in (5) hold for infinitely many integers m . According to the fundamental theorem of polynomial algebra, these identities are valid also when m is replaced by a variable and any complex number.
- For the remaining two sequences C_n and D_n , we failed to find their generalized expressions $C_m(n)$ and $D_m(n)$. The interested reader is encouraged to make further attempts. □

References

- [1] J.-P. Allouche, “A generalization of an identity due to Kimura and Ruehr”, *Integers* **18A** (2018), article no. a1.
- [2] ———, “Two binomial identities of Ruehr revisited”, *Am. Math. Mon.* **126** (2019), no. 3, p. 217-225.
- [3] H. Alzer, H. Prodinger, “On Ruehr’s identities”, *Ars Comb.* **139** (2018), p. 247-254.
- [4] M. Bai, W. Chu, “Seven equivalent binomial sums”, *Discrete Math.* **343** (2020), no. 2, article no. 111691.
- [5] W. Chu, “Generating functions and combinatorial identities”, *Glas. Mat., III. Ser.* **33** (1998), no. 1, p. 1-12.
- [6] ———, “Some binomial convolution formulas”, *Fibonacci Q.* **40** (2002), no. 1, p. 19-32.
- [7] ———, “Logarithms of a binomial series: Extension of a series of Knuth”, *Math. Commun.* **24** (2019), no. 1, p. 83-90.
- [8] L. Comtet, *Advanced Combinatorics. The art of finite and infinite expansions*, revised and enlarged ed., Reidel Publishing Company, 1974, Translated from the French by J. W. Nienhuys.
- [9] R. Duarte, A. G. de Oliveira, “Note on the convolution of binomial coefficients”, *J. Integer Seq.* **16** (2013), no. 7, article no. 13.7.6.
- [10] S. B. Ekhad, D. Zeilberger, “Some Remarks on a recent article by J.-P. Allouche”, <https://arxiv.org/abs/1903.09511>, 2019.
- [11] H. W. Gould, “Some generalizations of Vandermonde’s convolution”, *Am. Math. Mon.* **63** (1956), no. 2, p. 84-91.
- [12] R. L. Graham, D. E. Knuth, O. Patashnik, *Concrete Mathematics*, Addison-Wesley Publishing Group, 1989.
- [13] E. Kiliç, T. Arıkan, “Ruehr’s identities with two additional parameters”, *Integers* **16** (2016), article no. A30.
- [14] N. Kimura, O. G. Ruehr, “Change of variable formula for definite integral”, *Am. Math. Mon.* **87** (1980), no. 4, p. 307-308.
- [15] J. H. Lambert, “Observationes variae in Mathesin puram”, *Acta Helvetica* **3** (1758), no. 1, p. 128-168, reprinted in his *Opera Mathematica*, volume 1, p. 16–51.
- [16] S. Meehan, A. Tefera, W. Michael, A. Zeleke, “Proofs of Ruehr’s identities”, *Integers* **14** (2014), article no. A10.
- [17] J. Riordan, *Combinatorial Identities*, John Wiley & Sons, 1968.